Subject: Re: Matching the sample size
Posted by Trevor-DHS on Tue, 03 Apr 2018 21:52:13 GMT

View Forum Message <> Reply to Message

| tried looking at your do file, but it is missing some steps. sbp and dbp do not exist.

However, | think the bigger issue is which file you are working with. The tables in the report are
run based on interviewed women and men using the IR and MR files. The blood pressure
readings are merged from the PR files into the IR and MR files for each eligible woman and man.

Then once you have merged the blood pressure readings into the IR and MR files, the blood
pressure readings are combined to form the final result blood pressure measures for analysis, as
follows:

gen sbp =.

gen dbp =.

* if the first measure is given

replace sys = SB16S if inrange(SB16S,20,299) & inrange(SB16D,20,299)

replace dia = SB16D if inrange(SB16S,20,299) & inrange(SB16D,20,299)

* if the second measure is given take it

replace sys = SB23S if inrange(SB23S,20,299) & inrange(SB23D,20,299)

replace dia = SB23D if inrange(SB23S,20,299) & inrange(SB23D,20,299)

* if the third measure is given take the last

replace sys = SB27S if inrange(SB27S,20,299) & inrange(SB27D,20,299)

replace dia = SB27D if inrange(SB27S,20,299) & inrange(SB27D,20,299)

* if all measures are given, then average the last two

replace sys = (SB23S + SB27S)/2 if inrange(SB27S,20,299) & inrange(SB27D,20,299) &
inrange(SB23S,20,299) & inrange(SB23D,20,299)

replace dia = (SB27D + SB27D)/2 if inrange(SB27S,20,299) & inrange(SB27D,20,299) &
inrange(SB23S,20,299) & inrange(SB23D,20,299)

| hope this helps.
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